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1. Outline two limitations of using accounting ratios to assess the performance of a company. (4 marks)

4. Briefly describe two objectives for acompany of appraising the performance of its salespeople.
(4 marks)

5.(ad) Budgeting isan important financial function ina company. Explain two purposes of budgeting.
(4 marks)
(b) List two causes of afavourable sales variance. (2 marks)

6. Ming Kee is a smal Hong Kong supermarket chain established fifteen years ago.
Owing to keen competition and rising costs, the chain has not been able to earn very good
profits recently. Sometimes, there are also problems maintaining good liquidity. Paul, the
Managing Director, called a meeting to discuss ways to dea with the current situation.

David, the Finance Manager reported, "Although all our sales are in cash, we are ill
having a liquidity problem.  This may be due to slower inventory turnover for alot of items and
our inventory turnover ratio isbelow the industrial average. Take beverages as an example, the past
sales records show that our chain sold

500 boxes each month.  We currently order 600 boxes each time.  The ordering cost is $5625 per
order and the average holding cost per box is $10 per month.  To improve the situation, | suggest
using the Economic Order Quantity model to reduce the inventory costs. We should also put
more effort into marketing to speed up the turnover of the slow-moving stock.”

George, the Marketing Manager responded, "Sure, we will have more promotions to stimulate
the sales of the slow-moving  stock. | dso believe that the 'online to offline (020)
trend will bring us more opportunities. We can develop an online shopping platform for
customers to make purchases online and then they can pick up the goods they ordered in our
stores.  When the customers get their goods in our supermarkets, they may buy other goods
aswell. Also, amuch larger variety of goods can be displayed on the online shopping platform
and customers can shop without time ,constraints.  This project looks feasible and should have a
quick payback that won't worsen our liquidity.”

David raised a concern, commenting, "The project idea sounds good but we should use the Net
Present Vaue method for amore accurate evauation of the investment.”

Paul considered the project to be promising and asked the managers to strut the project.



@

i) Using the Economic Order Quantity model, calculate the optimal order quantity of
beverages (in boxes) for Ming Kee.  Show your workings. (2 marks)

(i)  Based on the optimal order quantity calculated in (a) (i), state which inventory cost
component contributes to the reduction intotal inventory cost. Explain why.
(2 marks)

(b) From the perspective of cash management, suggest two ways to cope with Ming
Kee's liquidity problem. (4 marks)

(c) Give two reasons for using the Net Present Vaue method instead of the Payback method
to evaluate the online shopping project. (4 marks)

(d)  Suggest three non-financial problems that may arise if Ming Kee launches the online
shopping project. (6 marks) (Total: 18 marks)

Centrawash isacompany providing dishware cleaning and sanitising services to restaurants in
Hong Kong. [t has advanced dishwashing equipment to help restaurants maintain food safety,
boost operational efficiency and minimise costs.

The company picks up dishware from restaurants, cleans and sanitises the dishware, and delivers it
back toits customers.  After operating for years, the company has gained a reputation in the
industry.  However, the sales growth of the industry recently started to slow down.

In a management meeting, Peter, the Managing Director, said, "'l notethat many competitors
have been entering the market recently. = Some weaker competitors have been forced to drop out
of the market. Price competition is popular. We have to find some ways to enhance our
competitiveness and maintain our profits.  In order to understand more about the needs of our
customers, we can collect some secondary datafor analysis.”

Billy, the Marketing Manager, responded, "I think secondary data may not be useful to us."

Daisy, the Human Resources Manager, commented, "We are now employing ateam of salespeople to
sell our service to target customers. he company could provide off-the-job training to them so as
to improve their job skills and hence increase the success rate of personal selling.”

Billy agreed and said, "l am pretty sure that the industry is at the maturity stage of the product
life cycle. Besides enhancing the effectiveness of personal selling, we could launch more
promotions to attract new customers.”

Peter added, "We are aso facing the problem of frequent damage to dishware, which may bring
losses to us. Would it be possible to insure against this risk?"

Mary, the Finance Manager, responded, "1 am afraid that this risk may not be insurable.”



(i)

(@ (i) What issecondary data? (1 mark)

(i) Give two limitations of using secondary data to help Centrawash understand the
needs of itscustomers. (2 marks)

(b) Give three pieces of evidence from the case to support Billy's view that the dishware

cleaning and sanitising industry is at the maturity stage of the product life cycle.
(3 marks)

(© Suggest three off-the-job training methods and state how each of them can help the
sales team of Central wash increase the success rate of persona selling. (6 marks)

(d (i) Giveareason why the risk of frequent damage to dishware is non-insurable. (2 marks)

Suggest two risk management strategies Centralwash could adopt to deal with the risk in
(d) (i) above. (4 marks)

(Total: 18 marks)



QUESTION 1
Limitations:
only reflects quantitative information
difficult to make comparison: e.g. different accounting policies or standards are used by
different companies
reflects the phenomenon/problem without explaining the causes
(2 marks for each relevant limitation, max. 4 marks)

QUESTION 4
Objectives:

evaluates salespeople's performance to make personnel decisions: e.g. promotion, transfer and salary
adjustment
identifies training needs of the salespeople: e.g. enhance product knowledge and communication skills
aligns salespeople with company objectives: e.g. improve their understanding on the performance
standards and company's overall objectives

(2 marks for each relevant objective, max. 4 marks)

QUESTION 5

(a) Purposes:
planning: provide directions for formulating plans to achieve company's goals
organising: facilitate resources allocation and cooperation among departments
leading: provide quantitative and specific targets for employees
controlling: serve as standards for performance management

(2 marks for each relevant purpose, max. 4 marks)

(b) Causes:
actual selling price is higher than budgeted
actual sales volume is higher than budgeted
product mix: the actual sales are higher than the budgeted sales when a higher proportion of products
with higher price are sold
(12 mark for each relevant cause, max 2 marks)



QUESTION 6

(@ (i) Economic Order Quantity (EOQ):
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=750 boxes

ordering cost
lower order frequency, from 10 timesto 8 timesin a year

(b) Ways.

delay payments

obtain short-term loan: e.g. bank overdraft

match the timing and amount of cash inflows and cash outflows
(2 marks for each relevant way, max. 4 marks)

(c) Reasons:
consider all cash flows beyond the payback period
take into consideration the time value of money
can assess the net worth of the

(2 marks for each relevant reason, 4 marks)

(d) Problems:
system security and breakdown: e.g. hacking
human resources issue: e.g. manpower allocation and training
difficult to gain acceptance from existing customers/attract new customers
operational problems: e.g. pressure on inventory management, stockout risk etc.
(2 marks for each relevant problem, max. 6 marks)

QUESTION 7

(@) (i) Data are readily avail able/data collected for some other purposes
(if)

- the data may be outdated
as the data were not collected for the intended purposes, they may not satisfy
the needs of the users
accuracy of the dataisin doubt
(1 mark for each relevant point, max. 2 marks)

(b) Evidence:

increased competition

slowdown in sales growth

price competition is popular

some weaker competitors have been driven out of the market
(1 mark for each relevant evidence, max. 3 marks)



(c) Off-the-job training methods:
lecturing: e.g. enhance product knowledge
programmed learning: e.g. learn the sales procedure through books, computers or
video recordings
role play: e.g. learn communication skills
case study: e.g. learn how to handle customers' objections
simulated training: e.g. learn the operation of the dishwashing machine through
equipment simulation for effective sales presentation
(2 marksfor each relevant training method, max. 6 marks)

(d) (i) Reasons:

the loss is too trivial or frequent

administrative cost incurred by the insurance company is higher than the premium
(2 marks for each relevant reason, max. 2 marks)

(i) Risk management strategies:

risk assumption: e.g. bear the loss of the damaging of dishware

risk reduction: e.g. provide training to workers to reduce the chance of damaging
(2 marks for each relevant strategy, max. 4 marks)



